TUBELITE INC.

MONUMENTAL ENTRANCE SERIES
ALUMINUM OUT-SWING DOOR

THESE DOORS ARE RATED FOR LARGE MISSILE IMPACT.

INSTALLATION OF THIS SYSTEM OUTSIDE THE HVHZ AREA SHALL MEET
THE APPLICABLE REQUIREMENTS FOR WIND BORNE DEBRIS PROTECTION.

MONUMENTAL
ALUMINUM OUT-SWING ENTRANCE DOOR

SEE SHEET 2 FOR DESIGN LOAD CAPACITY OF SINGLE AND
DOUBLE DOORS.

DOORS NOT APPROVED FOR INSTALLATIONS WHERE WATER
INFILTRATION RESISTANCE IS REQUIRED.

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE 2017 (6TH EDITION)/2020 (7TH EDITION) FLORIDA
BUILDING CODE FOR NON HIGH VELOCITY HURRICANE ZONE.

1BY OR 2BY WOOD BUCKS & BUCK FASTENERS BY OTHERS, MUST BE
DESIGNED AND INSTALLED ADEQUATELY TO TRANSFER APPLIED PRODUCT LOADS
TO THE BUILDING STRUCTURE.

ANCHORS SHALL BE CORROSION RESISTANT, SPACED AS SHOWN ON DETAILS
AND INSTALLED PER MANUF'S INSTRUCTIONS. SPECIFIED EMBEDMENT TO BASE
MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.
ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON-COMPRESSIBLE.

MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE

REQUIREMENTS OF THE 2017/2020 FLORIDA BLDG. CODE & ADOPTED STANDARDS.

THIS PRODUCT APPROVAL (S GENERIC AND DOES NOT PROVIDE INFORMATION
FOR A SITE SPECIFIC PROJECT, i.e. LIFE SAFETY OF THIS PRODUCT, ADEQUACY
OF STRUCTURE RECEIVING THIS PRODUCT AND SEALING AROUND OPENING FOR
WATER INFILTRATION RESISTANCE ETC.

CONDITIONS NOT SHOWN IN THIS DRAWING ARE TO BE ANALYZED SEPARATELY,
AND TO BE REVIEWED BY BUILDING OFFICIAL.

DESIGN LOADS SHOWN ARE BASED ON ‘ALLOWABLE STRESS DESIGN (ASD).

MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION
IN ACCORDANCE WITH SECTION 1709.9.3 OF FLORIDA BUILDING CODE.
LABELING TO COMPLY WITH SECTION 1709.9.2.

NOTE:

GLASS CAPACITIES ARE

BASED ON ASTM E1300-09 (3 SEC. GUSTS)
AND FLORIDA BUILDING COMMISSION
DECLARATORY STATEMENT DCAO5-DEC-219

Sealed: 12/16/20

A~ CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND

INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION
PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED
ON THIS DOCUMENT.

B— THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF

ALTERED BY ANY MEANS.

C— SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED

ENGINEER OR ARCHITECT WHICH WILL BECOME THE ENGINFER OF RECORD (E.O.R)
FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED
ENGINEER TO THE P.E.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

D—-THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF

THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

a
f
c

(C.A.N. 3538) I[
COMP—ANL\ 19—33F~TLI)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

, Suite G J
(

N.W.

Fax.

INC.
3056 Walker Ridge Dr.
Walker, MI 49544
800--866-2227

Tel.

TUBELITE

J[ MONUMENTAL ALUMINUM OUTSWING DOOR (LM.L)]

UPDATED TO 2020 FBC

by [description

FL #29696

A 108.05.20

(revisions:
nol date

04-24~19

<
<
=
>
a

[
°

ate
scale: —
chk. by:

= e e
drawing no.

19-33F

sheet 1 of 15




53" (STD. JAMBS)

49-1/2" (NARROW JAMBS)

101" (STD. JAMBS)
97-1/2" {NARROW JAMBS)

TYPICAL ELEVATIONS

36 3/8" (MED. STILES)
33 3/8" (WIDE STILES)

36 3/8" (MED. STILES)
33 3/8" (WIDE STILES)

D.L. OFG. D.L. OPG.

47 13/16” 47 13/186"

{EAF WIDTH (EAF WIDTH

DOUBLE DOORS LOAD CAPACITY — PSF

DOOR OPNG. DIMS. LEAF DIMS.

WIDTH | HEIGHT | WIDTH ReiGrT | EXT-(+) | INT.(=)
96" 96" 147-13/16" 95-7/16" | 700 | 700
75" 108" ¥ | 37-5/16" | 107—7/16"| 66.0 | 66.0

LIMIT THESE SIZES TO DOORS GLAZED WITH DOWSIL 995 ONLY.

FRAME WIDTH
18"
6 1/2" MAX. MAX.
. - @ HEAD
HEAD/SILL | SILL
CORNERS
| | | |
[
1 H
|
|
- I
- I
1 -
|
|
1
©) )
P~ no I I
58 == I
g Tl o @ I
25 .|z a8 | | MID RAIL
gl @8 $=S I| > OPTIONAL
< ~E =7 %
- 5 g ™~ e ‘LD:D = /T
o~ . < i P - .
Sk 8 R =
I Re ey
» 1 -
| H
|| 538
| | 2=
— { ——
|
{
N
— ’ ACTIVE _ \L:__T
| | | [ )
%
SURFACE APPLIED |, 2
FALSE MUNTINS . 1Y
MAY BE USED NIEY:
- 8]
36 3/8" (MED. STILES) m
33 3/8" (WIDE STILES)
D.L. OPG,
47 13/16"
LEAF WIDTH
SINGLE DOORS LOAD CAPACITY - PSF
DOOR OPNG. DIMS. LEAF DIMS.
WIDTH | BEIGHT | WIDTH ReGAT | EXT(H) | INT.(-)
48" 96" [47-13/16"] 95-7/16" | 700 | 700
37-1/2" | 108" *| 37-5/18" [ 107-7/16"] 66.0 | 66.0
GLASS D.L.0. FORMULAE: *
D.L.O. WIDTH = LEAF WIDTH — 11.438" (MEDIUM STILES)
= LEAF WIDTH — 14.438" (WIDE STILES)
D.L.O. HEIGHT = LEAF HEIGHT — 17" (MEDIUM STILES)
= LEAF HEIGHT — 18.50" (WIDE STILES)
DOOR LEAF WIDTH (X DOORS) = FRAME WIDTH — 5.187" (STD. JAMBS)
= FRAME WIDTH — 1.687" (NARROW JAMBS) NOTE:

DOOR LEAF WIDTH (XX DCORS)

DOOR LEAF HEIGHT

|/

FRAME WIDTH — 5.375" (STD. JAMBS)
FRAME WIDTH — 1.8757 (NARROW JAMBS)

FRAME HEIGHT — 3.062" (STD. HEAD)
FRAME HEIGHT — 1.3125" (NARROW HEAD)

GLASS CAPACITIES ARE
BASED ON ASTM E1300-09 (3 SEC. GUSTS)
AND FLORIDA BUILDING COMMISSION
DECLARATORY STATEMENT DCAQ5—-DEC-219

Sealed:

FRAME WIDTH
HEAD ANCHORS 18"
6 1/2" MAX. _ (6) AT SJT'Li..Eggé\Q MAX.
A o HEAD
HEAD/SILL i O SILL
CORNERS
N
J \ -
AN
D AN
O \
~ 0 - ™ =
{1}
58 o= PR
QT o S N
T = . // N
= |.L - Sl i o
-0 L It ao iy . /
Q& 0o Lﬁ-’g o = d =
A%t LW S
N TN Y
oL n ._._: T -
ShE ool 3B p
My
? Re s
) e v
e w
s 38
e oE=X
< / At
e
o ACTIVE
f
| { N RE 1. | | y
— 2,
SUTALSE MONTINS © SILL ANCHORS 2ol
MAY BE USED (4) AT STILE' ENDS LS
' AT 4" 0.C. >~ s
[Te]

£
)
i
te,
N’]
7
_ (03]
2 Ri-
w Qi
OE w5 $i=
i <
b= u gﬁl
<E <a[2
B3
Qmﬁ 2
Ban %
goE uw
OEan
03245
2585
OEE" g
_Qn.agﬁ
O3k 3
E229
g oL
u_wtn_-c
|ZO§9
4885
giiosH
L —
P
=
= o
o ©
[ s
(& =]
[an] (73]
% i
= =
o = >E
e o
o . i
o
=
©
Zl . o
Qo+
S22 xrn
| T N
<C o
W 2_ 4
ZElE5= 8
5-—13.|
W~ g
Zlmel s
ZID 8%
LIF™m=E &
- v
Y p
o
Q
L
aQ
—
O
[
T
o
>
L.y
.
Pt | 51F]
=)
Redin=s
-
oo
\=AE
|5
| -
<+ g
Sallg
i
g||&|Is
o < u
=] L] b+
drawing no.




3/4" MIN. TYP.

3/4" MIN. TYP.
GLASS BITE

1/4" HEAT STREN'D. GLASS

.035" Interlayer
SentryGlas
By ‘Kuraray America, Inc.’

1/4” HEAT STREN'D. GLASS

GLASS BITE

20
21
N
s 17
/ il \
r e \
x ! I !
E L /
£\
= 25
™ s

GLASS TYPE 'C’
9/16" OVERALL LAM. GLASS

1/4" TEMP. GLASS
5/16" AR SPACE
1/4" HEAT STREN'D. GLASS

.035” Interiayer
SentryGlas )
By ‘Kuraray America, Inc.’

1/4" HEAT STREN'D. GLASS

[ [

EXTERIOR

GLASS TYPE ‘Ci’

1-1/16" OVERALL INSUL. LAM. GLASS

GLAZING DETAILS
LEVEL 'C’ IMPACT

3/4" MIN. TYP.

3/4" MIN. TYP.
GLASS BITE

1/4" HEAT STREN'D. GLASS

090" Interlayer
SentryGlas

By ‘Kuraray America, Inc.
OR ’
075" Interlayer

Safiex CP With PET Core
By 'Eastman Chemicgl Co.'

1/4”" HEAT STREN'D. GLASS

GLASS BITE

EXTERIOR

GLASS TYPE ‘D’
9/16" OVERALL LAM. GLASS

3/16" TEMP. GLASS

5/16" AIR SPACE
1/4" HEAT STREN'D. GLASS

.090” Interlayer
SentryGlas

By ‘Kuraray America, Inc.
OR

075" Interiayer
Sofiex CP With PET Core
By 'Eastman Chemical Co.’

1/4" HEAT STREN'D. GLASS

21

(ie) i A
it \

| il
| el
i \

N 25
e

ALUMINUM —

GLASS TYPE 'Di’
1-1/186" OVERALL INSUL. LAM. GLASS

1/4" HEAT STREN'D. GLASS

.090" Interlayer

Saflex Clear And Color Gloss
By 'Eastman Chemical Co.’
OR

.090" Interlayer

SentryGlas

By ‘Kuraray America, Inc.'

[4

075" Interlayer
Saflex CP With PET Core
By 'Eastman Chemical Co.’

1/4” HEAT STREN'D. GLASS

o
EE (20
Z @ B 22
=8 1
s 5 1°] ~
J o il
> ’ i ;l, 18
it \
! il \
x| "
z \ /
AN
% 25
~ Ve
e
GLASS TYPE 'D1’
9/16" OVERALL LAM. GLASS
3/16" TEMP. GLASS
5/16" AR SPACE
1/4" HEAT STREN'D. GLASS
090" Interlayer
Saoflex Clear And Color Glass
By 'Eastmon Chemical Co.
OR
090" Interlayer
SentryGlas
By 'Kuroray America, Inc.'
OR
.075" Interlayer
Saftex CP With PET Core
By 'Eastman Chemical Co.'
1/4" HEAT STREN'D, GLASS
El: 1
F1E (2
Z|® 22
z (%1 i\ b \\
B H |
= @ B
> o N8
gl fill
L L fili 1
5 | |
g /
=\ Pt
ALUMINUM —
SPACER  GLASS TYPE ‘Dii’

1~1/16" OVERALL INSUL. LAM. GLASS

GLAZING DETAILS
LEVEL ‘D’ IMPACT

3/4" MIN, TYP.

1/4" HEAT STREN'D. GLASS

.090" Interlayer

Sofiex Clear And Color Glass
By 'Eastman Chericai Co.'
OR

090" Interlayer

SentryGlas

By 'Kuraray America, inc.’
OR

075" Interlayer

Saflex CP With PET Core
By 'Eastman Chemicat Co.’

r§/4" HEAT STREN'D. GLASS

SILICONE
DOWSIL 985

EXTERIO

3/4” MIN. TYP.
GLASS BIE

GLASS BITE
R !

GLASS TYPE ‘D2’
9/16" OVERALL LAM. GLASS

3/16" TEMP. GLASS
5/16" AR SPACE
i/4" HEAT STREN'D. GLASS

.090” Interlayer

Saflex Clear And Color Gloss
By 'Eastman Chemical Co.’
CR

.090" Interlayer

SentryGias )

By 'Kuraray America, inc.
- OR

075" Intertayer

Saflex CP With PET Core
By 'Eostman Chemical Co.

1/4" HEAT STREN'D. GLASS

SILICONE
DOWSIL 995

NN liRavaE
i:h!i

s
/ o IR [ 5
1
T Y i T
AT RANR
a | :
o /
E O\
5 \ P 25
L~
ALUMINUM —
SPACER GLASS TYPE 'D2i’

1-1/16" OVERALL INSUL. LAM, GLASS

Sealed: 12/16/20

(C.A.N. 3538)

FAX. (305) 2626978
COMP—ANL\ 19~33F-TLI)

AL-FARQOOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSEY DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

(

N.W., Suite G J

Fax.

INC.
3056 Wolker Ridge Dr.
Walker, Ml 49544
800—BBE~2227

Tel.

TUBELITE

J{ MONUMENTAL ALUMINUM OUTSWING DOOR (LM.L.)]

by [description

nol date

(revisions:

04-24-19

H
"
It

:
23]
=y
Lip)

P
=]
4]
@

dr. by: TARIQ

date:
chk. by:

—_—
drawing no.

19-33F

sheel 3 of 15




3/47 MIN. TYP.

GLASS BITE

1/47 HEAT STREN'D. GLASS

.180" Interlayer
SentryGlas
By 'Kuraray America, Inc.'

1/4" HEAT STREN'D. GLASS

EXTERIOR

GLASS TYPE ‘E’

11/16" OVERALL LAM. GLASS

1/4" HEAT STREN'D. GLASS

J180" Interlayer
SentryGlas
By ‘Kuraray Americe, Inc.'

1/4" HEAT STREN'D. GLASS

3/4" MIN. TYP.
GLASS BITE

EXTERIOR

GLASS TYPE ‘E1’
11/16” OVERALL LAM. GLASS

3/16" TEMP. GLASS

5/16" AIR SPACE
1/4" HEAT STREN'D. GLASS

180" Interlayer
SentryGlas
By ‘Kuraray America, Inc.

1/4" HEAT STREN'D. GLASS

3/4° MIN. TYP.
GLASS BITE

i

ALLIMINUM
SPACER GLASS TYPE ‘Eli’
1-3/16" OVERALL INSUL. LAM. GLASS

GLAZING DETAILS
LEVEL ‘E’ IMPACT

1/47 HEAT STREN'D. GLASS

177" interlayer
Saflex CP With PET Core
By 'Eostmon Chemical Co.’

1/4" HEAT STREN'D. GLASS

o SILICONE
ElE (on DOWSIL 995
. D
Zl., |
=4 T
: 1 iy 23
N & bl [ N
" ; ol i
ol [l 19 ).
[ wlx \
x| !
z \ /
£\
o N p 25

T

GLASS TYPE 'EZ’
11/16" OVERALL LAM. GLASS

3/18” TEMP. GLASS
5/18" AIR SPACE

1/4" HEAT STREN'D. GLASS

A77" Interlayer
Saflex CP With PET Core
By 'Eastmun Chemical Co.'

1/4" HEAT STREN'D, GLASS

o SILICONE
e | @ “DOWSIL 995
. M
= %]
= HiRHL
:ﬁ% T ARNPE
s 0l
/ | it \Yer
I kgt [ \
13, M J
g | )
& \
>
fal

ALUMINUM —_
SPACER GLASS TYPE ‘E2i’
1~3/}6" OVERALL INSUL. LaM. GLASS

\‘lll,!!!fl

W
\\&%‘{j’n FA@ @@ 2

[EE TP

A . .
%_e' : \AGENSG- v,

MNo. 81223

l,///

(C.AN. 3538)

FAX, (305) 262-6978
COMP—-ANL\19~33F-TL! ]

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

, Suite G ]
(

N.W,

Fax.

INC.
3056 Walker Ridge Dr.
Waiker, Ml 49544
800-866-2227

Tel.

TUBELITE

|

){ MONUMENTAL ALUMINUM OUTSWING DOOR (LM.1)]

by [ descriplion

nol| date

(revisions:

04-24—19

=4
%
=
3
.
5

date:
chk. by:

drawing no.
19—-33F




{NL=4£2~BL\INV—dINO3 ) X0 4 £227-998—008 181 0
BL69-29T (908) "Xvd 00T Y9I (SOE) "L FECEY I H4SMIDM 5
O T e sl e Lo bocs || © SH1S TAYN "Q opil o 950 A
LNSWJOTIAIA LONAOH '8 SHIINIDNT ONI_3lndant ToTaEEsE AT omp jou 20 ||%
. . d v —
NOILYNOJdH0D DOOUNYA-IV ?s:v ¥O0Q ONIMSING WNNIWNTY Jﬂzuzgzoih Suosie)| O!Yev0 mwe) S |5
SILON Trewere .
. ¥OHONY 335
SWIHS XV WO
L8/ Mo v/ =
4]
ONOROIOIOI0 ]
o N o
] v ¥ ) «©
S .
5 | N
b < \\ b R
O < ‘.
o . °©
/ g Ly Q
: = - ©
St \ 0]
y (0p]
U A0 -
Sag "
T 3x ~.
gwg <
AﬂS . -
205
o oz
i L=
W Ri‘,d ‘A..
22 7
Cr
O -
= LHOI3H v
S3IGN
. YOHONY 338
SWIHS 'XVA
£8/€ MO ¥/
2
W=
S, HE HE®®
g .z Ex_
n=s Vv
JMa Q v L
Zmu Q9.
= w7 al
s c
o =
ﬂ .w | - T
& 3 3 HMWNH
d e s
[©] I I
o I wﬁﬂ
ol 540 G e Ba0 A
EEE IS (R LHORH 3Aved .
S3LON
s HOHONY 333
SWIHS XVA
W8/E WO /L @
0 & ©
=] Weg
s g BF Vo
ZhE OB : &
oA 8. o @
<iiw C_,m. Z A=
%ER a A%M
che T m&w
o b
Fae
_ ECul
|A ak
. i
= .
7 .
a z
(] v . =
] ' ¥ ke
I 07 5
- HOINELXH z28 u
m s 9d0 a @ o B
. ,. v
LHOEH w31 L o
1HOEH 'ONDO d00Q

LHOEH 3AVHA




I N
TYPICAL ANCHORS @ =
SEE ELEVS. TYPICAL ANCHORS i
EDGE DIST. FOR SPACING SEE ELEVS. TYPICAL ANCHORS b
FOR SPACING 5 SEE_ELEVS, |7
| 1BY > FOR SPACING METAL » T E
B T | S WOOD BUCKS a STRUCTURES  [r— = - oo i iy 6. Solg
% AT i I S g E0GE DIST. 1/8" THK. i} F.B.C. APPR'D MULLION h =2 =¢lz
1 L e - S e = / '; SEE SEPARATE APPROVAL i R 8|
: Z EDGE,DPS’L/ - 4 0 g TV o
7 . % ) ﬂ % ¥ A v igs Za|3
L - ; 6 i} p—aa A PR 47 A 77 15.. _,‘F o_'g\._g bE)
=] o &> 0 | BE:) 5 | S o e g 5 gﬂ -
S s i ) ) © © _ « © ey
Dl | ol % ' =
x Bz w 0is 0B s a¥a
£ [w
_ i SES S_1<b 2 ~ ;t 7 1 OEE® 3
; RO N §u2 §. e g s Z{(MZ = THT L} QEQ<!“
‘“’J H__v it M_J_&LJ H_ et 5¥JJLJ ©) ©3Lg 3
Whe
TYPICAL ANCHORS g gz9 o
SEE ELEVS, i G pLb
FOR SPACING TZoE 4
2382
LE5as
—
=
= O
= 2
WOOD BUCKS AND METAL STRUCTURE NOT BY ‘TUBELITE INC.' 8 3
MUST SUSTAIN LOADS IMPOSED BY GLAZING SYSTEM ™ m
AND TRANSFER THEM TC THE BUILDING STRUCTURE. = =
al =z .
5 .8
o [
TYPICAL ANCHORS: SEE ELEV. FOR SPACING = a
144" _Dia. TAPCON BY “ITW (Fu=125 KSI, Fy=100 KSI) 2 18 fgjw
{(1/4" MAX. SHiMS) S ZEnn
i — O N
1/4” DIA. ULTRACON+ BY 'DEWALT’ (Fu=164 KSI|, Fy=148 KSi) =ht, ey 9
(3/8" MAX. SHIMS) = 8
INTO ZBY WOCD BUCKS OR WOOD STRUCTURES ‘g—’ d.g ‘d):gl
1-1/2" MIN. PENETRATION INTO WOOD (HEAD/JAMBS) = % uc'%ic‘ ©
=] —
THRY 18Y BUCKS INTC CONC. OR MASONRY E o=@
1-1/4" MIN. EMBED INTC CONCRETE (HEAD/JAMBS) ~
1-1/4" MIN, EMBED INTC MASONRY (JAMBS)
DIRECTLY INTO CONCRETE OR MASCONRY
1—1/4" MIN. EMBED INTO CONCRETE (HEAD/SILL/JAMBS)
1—1/4" MIN. EMBED INTO MASONRY (JAMBS) :
[
1/4" DIA. TEKS QR SELF DRILEING SCREWS (GRADE 5 CRS) -§_
(3/8" MAX. SHIMS) S
INTO F.B.C. APPROVED MULLIONS §
OR >
INTO 18 GA. METAL STUDS (Fy = 33 KSI MIN.) e
OR 2l
INTO METAL STRUCTURES (HEAD/SILL/JAMBS) 215
ALUMINUM: 1/8" THK. MIN. (B0B3—T5 MIN.) HE
STEEL: 1/8" THK. MIN. (Fy = 36 KSI MIN.) S

(STEEL IN CONTACT WiTH ALUMINUM TO BE PLATED OR PAINTED)

TyPiCAL EDGE DISTANCE

INTO CONCRETE AND MASONRY = 2-1/2" MIN.
INTO WOOD STRUCTURE = 1" MIN.

INTO METAL STRUCTURE = 1/2" MIN.

WOOD AT HEAD OR JAMBS SG = 0.55 MIN.

CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN.
C—~90 HOLLOW/FILLED BLOCK AT JAMBS f'm = 2000 PSi MIN,

04-24~19

.
-
n
o
~
L)
@
Q
Q
(]

dr. by: TARIQ

date:
chk. by:

e
drawing no.

19-33F
{sheet B of 15)|




1/4” OR 3/8"
TYPICAL ANCHORS S%QX'ASHLMS = TYPICAL ANCHORS
SEE ELEVS. NCHOR SEE ELEVS.
TYPICAL ANCHORS . FOR SPACING NOTES FOR SPACING
SEE ELEVS. @ -
FOR SPACING . @
» ACTIVE LEAF — A
- L
5 N Y N - N ¥ g
= Ay n X, \
" [ N = S
8 7 ~\i & N
fon]
()
W * 3 N o g 2 4
| ‘fﬁ,ﬁ‘—_‘r E \1 'ii E{ ‘“:__"‘:l ; } §1 % --'4
—1+H — e (ol hand | =
5“ = | g , T il — A | Tt i s B
2 T 2 METAL 1
=~ /B pdoild s N STRUCTURE O e
o/ FE | N (SEE SPEC) ; [ 4
g 2 '“‘z"rr".““wr‘f'i\i e %
> .8 Al L % i -/ | et
REE < - AR S R ' VA m—— f ol
S .
00 sreRion | Gy S ~ &) 3
D.LO. ' A PRI
1BY -
LEAF WIDTH WOOD BUCK
1/4” OR 3/8" ’ ”
MAX. SHIMS SINGLE DOOR FRAME W{DTH 3/8" MAX.
SEE ANCHOR \' SHIMS
NOTES
gL“EG%iEH 9 LOCK OPTIONS
SEE SHEETS
10 & t1
TYPICAL. ANCHORS
SEE FLEVS.
K—-FOR SPACING
TYPICAL ANCHORS T
o SEE ELEVS. .
(30) LOCK_OPTIONS (29) FOR SPACING .
SEE SHEETS
7 INACTIVE LEAF 10 & ACTIVE LEAF N
2 WE~’-—
o f/ 4 X /
2 J / \ /
o i 1Y 1 —=
7 ]
. / [
[ L~
a - _‘i'.,._v_ _‘ = = E / II \/ ?}-
| S — 4 =i
e O I— : F T I -
v =TT D < E
o i S -
T’ s ! =R} . e
Be (M : R _ Y . S & SRR
63 4 Ep\ N [ — v o8
% . K ¥
OQe. | @ ' | B
‘ . e@ b.L.O. - o@ EXTERIOR \v/ .
LEAF WIDTH LEAF WIDTH 1/4" OR 3/8"
_ 18Y
1/4" OR 3/8" WOOD BUCK ol MAX. SHIMS
MAX., SHIMS DOUBLE DOOR FRAME WIDTH SEE ANCHOR
SEE ANCHOR \ NOTES
NOTES HINGES
SEE SHEET 9
Sealed: 12/16/20
FL #29696

{C,

COMP—ANL\ 1 9—33F—TLI]

(C.A.N. 3538)

FAX. (305) 262-6978

AL-FARCOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

. Suite G i
1

N.W.

Fax.

INC.

3056 Walker Ridge Dr.
Walker, M|l 49544
800-866-2227

TUBELITE

Tel.

)( MONUMENTAL ALUMINUM OUTSWING DOOR (LM.1.)]

by [description

(revisions:
(nol date

04--24--19

S
]
w
S
5

P
<]
o
o1

date:
chk. by:

draowing no.

19-33F

{sheet 7 of 15}




—
o
]T.
(4) 1/4" X 1-1/4" FH MS 5
N’
|
— (03]
2 S8I-
» w @7
=5 =%z
f L BT
&= Z o
a = gil=
m o =] fi =3 k%
ozq 2°
gy %
0P FITTING & gE &®
OEa @
o3ud
ORET 3
gan g o
gsyf
E229«a
qUST 5
u. % [ 3 =1
L 205 0
4882
LSz
VON DUPRIN #KR9954 OR 9954 p— —
REMOVABLE MULLION —
OPTIONAL =
VON DUPRIN #KR9954 =
SEE DETAIL AT RIGHT REMOVABLE MULLION = &
OPTIONAL
(USE ONLY WITH RIM EXIT DEVICE) = 2
[&] 3
a ]
% s
= =
(7] = :
N 2 :
- w
. - Q> Sl 5
g, { \m,- % . 8-,
: 2|9 2%
=1 | /Q Zlzedy
= STRIKEPLATE 2T LT
#2209 Y TE - A
ZlEo= g
Zi 1=
T I g Lot LoQ
51m 8 28
% D OI_D s
\\/ SlFm= 8
. |
N ~
LEAF WIDTH LEAF WIDTH . 5/16" DIA. THRU BOLT
W/ WASHER & NUT
(4) 1/4" DIA.
TAPCON /ULTRACON+
1-3/4" MIN. CONC. EMBED -
AT 2" 0.C. MIN, g
-
=
[
Q
1]
Q
o
-
Ya]
BOTTOM FITTING @i
Olfg
0o
>
B0
e
o ||
|
+ |l Vo
o N T
NN
Mslis|®
2l o |
B85 i5
. T S ————————,
Sealed: drawing  no.
sheet 8§ of 15




HINGE OPTIONS:
OPTION #1:

4-1/2" LONG FLUSH MOUNT STEEL BUTT HINGES
‘BB1191" BY 'HAGER' OR

‘ABH-663" BY ‘ABH MANUFACTURING INC.’

FASTENED WITH 12-20 X 1/2” FH MACHINE SCREWS
FOUR PER HASP(LEAF).

TOP AND BOTTOM HINGES AT 5-1/2" FROM ENDS
INTERMEDIATE HINGES AT 32” 0.C. MAX.

1" X 7-3/8" X 1/4” THK. ALUM BACK PLATE
AT FRAME AND LEAF
FASTENED WITH (4) #12-20 X 1/2” FH MACHINE SCREWS

1

OPTION #2:

CONTINUOUS GEAR ALUMINUM ROTON HINGE

‘SL 11HD’ BY 'SELECT

‘780" BY 'HAGER’

‘KCFM—95HD1" BY 'PEMKO’

‘AT10HD" BY ‘ABH’

FASTENED TO FRAME JAMB AND TO JAMB STILE WITH
#12-24 X 7/16” FH MS SCREWS

IN PAIRS AT 2", 4" AND 6" FROM TOP AND BOTTOM ENDS
AND IN SINGLE ROW AT 10" 0.C. THEREAFTER.

OPTION #3:

OFFSET PIVOT HINGES
‘P795DT/IL/DB' BY ‘TUBELITE’
“180/M19/147’ BY ‘RIXON'

TOP AND BOTTOM HINGES
FASTENED TO FRAME AND LEAF WITH
(4) 1/4-20 X 5/8” FH MACHINE SCREWS

TOP SHIM ‘C’ CHANNEL
(11/16" X 1=1/2" X 6-1/2" LONG X 1/8” FLANGE THK. X 1/4” WEB THK.)
FASTENED WITH (2) 1/4-20 X 1—1/2" FH MACHINE SCREWS

BOTTOM SHIM ‘C’ CHANNEL
(1=1/4" X 1=1/2" X 9-1/2" LONG X 1/8” FLANGE THK. X 1/4” WEB THK.)
FASTENED WITH (2) 1/4-20 X 1-1/2" FH MACHINE SCREWS

INTERMEDIATE HINGES AT 35" 0.C.
FASTENED TO FRAME AND LEAF WITH
(5) 1/4-20 X 5/8” FH MACHINE SCREWS

17 X 7-3/8" X 1/4” THK. ALUM BACK PLATE
AT FRAME AND LEAF
FASTENED WITH (4) #12-20 X 1/2” FH MACHINE SCREWS

Sealed: 12/16/20
FL #29696

f
C

COMP—ANL\19-33F~TLI )

a

(C.A.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-841.00

N.W.

INC.
5056 Walker Ridge Dr.
Walker, Ml 49544

TUBELITE

J( MONUMENTAL ALUMINUM OUTSWING DOOR (L.M.L.))

, Suite G J

(

Fax.

800-866—2227

Tel.

by Tdescription

(revisions:
nol date

04-24-19

<4
2
=
>
o
[
©

date:
scale: —

drawing

19-33F

chk. by:

no.

(sheet 9 of 15)




LOCK_OPTIONS:
3 _POINT LOCK

MAX. LEAF HEIGHT = 96 IN, MAX. LEAF HEIGHT = 108 IN.
MAX. LEAF WIDTH = 48 IN. MAX. LEAF WIDTH = 37-1/2 IN.
MAX. DESIGN LOAD = 70 PSF MAX. DESIGN LOAD = 66 PSF
ACTIVE LEAF:

KEY OPERATED THREE POINT LOCK SYSTEM

‘MS18534/2015/4016" AND 'MS18505/4015/4016" BY 'ADAMS RHE’
WITH CONCEALED FLUSH BOLTS AT TOP &

BOTTOM OF LOCK STILE AND A THUMB TURN CON THE

INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL

FASTENED WiTH

(2) #12-24 X 1/2" FH MACHINE SCREWS

INACTIVE LEAF:

MANUALLY OPERATED TWO POINT LCCK SYSTEM
'MS1881° AND ‘MS2180° BY 'ADAMS RITE’

WITH CONCEALED FLUSH BOLTS AT TOP &

BOTIOM OF LOCK STILE AND A THUMB TURN ON THE
INTERIOR, LOCATED AT 40" FROM BOTTOM OF PANEL
FASTENED WITH

(2) $#8-32 X 1/4" PH MACHINE SCREWS

/ A
7 / H AN
e 7/ H AN
/ /g bl 2
‘g A1
H
HI

INACTIVE /' ACTVE

/
//
I p————. TR
= .
s
=
~
~

-BOLT GUIDE]

mectfhes

7 @

s (e

R

ADAMS RITE ADAMS RITE BOLT GUIDE
2 POINT 3 POINT
LOCK LOCK

LOCK OPTIONS:

RIM PANIC EXIT DEVICES

PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 42 IN.
MAX. DESIGN LOAD = 50 PSF

ACTIVE LFEAF:

RIM PANIC EXIT DEVICE
'98,/99XP’ BY ‘VON DUPRIN'
"33A/35A° BY 'VON DUPRIN'
‘FL3790' BY 'FIRST CHOICE

‘WS ADB500" BY 'SARGENT

LOCATED AT 40" FROM BOTTOM
FASTENED TO ACTIVE LEAF WiTH WITH
(6) 10—-24 X 1-1/8" PH MS

/ AN
/s / N
7 / N
7 7 . s N
a7 Va4 2N
:{/}, & ’

N AN /
hY N /
ACTIVE N actve N | 1 acTive
REMOVABLE

MULLION

‘KR9954" DR "9954
) BY 'VON DUPRIN'
P

—
=
T
L.
3
7
z =22
6. 0312
..E o 9=
b= i . H=<
<z 38&
L ==
mOQ\Q_gO
Ogd 2
& T
8 o
G aE g
Qbap
O3ud
ORED S
_on.ngﬂ
Hik
ﬁmz_ﬁu
UWIL g
u_gm_-o
T S0 2
o COL
Zmz
Lok
L —
=
=
o &)
o i}
o) e
S S
o 0
) -
2l =
2l 2
> .2
o -
o
=1 )
= \ ~+
S1282 5
1= T e g
o x_ §
2lE5s 8
Zl 1= _ %
Slmtys
amgﬁm
%DO%_
zjiFMmEe
-/
-
[l
Q
=
=
-
Q
o
[h
3
o
el
ci|o
Sle
oo
-3
[31][e]
\=ile
b
|
=+
(3
i
3
[o=)

<4
%
=
F
©
]

dote:
chik. by:

e ——
drawing no.

19—-33F

_heet 100f 15




LOCK OPTIONS:

CVR PANIC EXIT DEVICES

OPTION #1:

FANIC EXIT_DEVICE

MAX. LEAF HEIGHT = @6 IN,
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LCAD = 70 PSF

ACTIVE, & INACTIVE LFAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE

"#2088" BY "JACKSON PANIC SYSTEM’

'3690FL' BY 'FIRST CHOICE'

LOCATED AT 41" FROM SH.L. AT FACH LEAF.

FASTENED WITH

(1) #14 X 1" HH SELF DRILLING SCREW AT ONE END AND
(2} #12-24 X 1/2" OH MACHINE SCREWS AT OTHER END

m i
gl FATTAN
at 2 HH N
7 S 1111 I
s | /{’/. I /f/\
o Sz i 7o
e | 1l
“ i
S S 41,
[
N ! \ 1k /
N A 114
ACTVE N\ : INACTIVE E I / ACTIVE
N

OPTION #2.

PANIC EXIT DEVICE

MAX. LEAF HEIGHT = 96 IN.
MAX. LEAF WIDTH = 48 IN.
MAX. DESIGN LOAD = 70 PSF

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXfT DEVICE

‘HHS947" BY 'VON DUFRIN'

LOCATED AT 40" FROM SILL AT EACH LEAF.

FASTENED WiTH

{(2) #10-32 X 3/4" FH MACHINE SCREWS AT ONE END AND
(2) #10-24 X 1/2" FH MACHINE SCREWS AT OTHER END

. T
/I VAT TIAN
/| 2 1[I
s ! 7 n AN
/0 ‘2 4
- S “
“o il
AN N /
= B ===
N AV 111
N Nl s
ACTIVE N\ |l INACTIVE "™ ;l W/ active
i B

OPTION #3:

PANIC EXIT DEVICE
MAX. LEAF HEIGHT = 96 IN. MAX. LEAF HEIGHT = 108 IN.

MAX. LEAF WIDTH = 48 iN. MAX. LEAF WIDTH = 37-1/2 IN.
MAX. DESIGN LCAD = 70 PSF MAX. DESICN LOAD = 66 PSF

PANIC EXiT DEVICE

ACTIVE & INACTIVE LEAF:

CONCEALED VERTICAL ROD PANIC EXIT DEVICE

"169CHH" BY ‘FALCON’

LOCATED AT 41" FROM SILL AT EACH LEAF.

FASTENED WITH

(1) #14 X 1" HH SELF DRILLING SCREW AT ONE END AND
(2) #12-24 X 1/2" OH MACHINE SCREWS AT OTHER END

Sealed: 12/16/20

Ty
=
T
|
4
)
Z IR
(] s o
=5 mgg
R =&l
. SglE
&ooc gl
6 o
Bad
gak u
Q53
©gud
O2ET S
Qmogﬁ
QILz 3
ng
ml.\:z.l""‘
LWUOE @
u_'.‘_:-'w._.-o
I—QEQ
dgg_.}
oz ¥
L —
Camn
=
= o
o @
S =
(@] =1
a o
% :
= =
(5] prid <
S o
3 S
o
=1
2o =3
S| Z xwn iy
2|7 ¥ 8
Sl 2
IlEs=g
Sl 4
Eg@'vg
Zl59%
SlF™»= &
L N
T ™
o
14
5
L.
Q
[y
D
[*}
e
’.D
.
{
o=
o
g
[ 2| Ne]
\=NE J
o
|
L
(3]
+
o

<
%
=
&,
0D
I
]

date:
scale: —
chk. by:

4
drawing no.

19—-33F
(hest 17o115)




MANF./SUPPLIER /REMARKS

ITEM ¥ PART # REQD. | DESCRIPTION MATERIAL
1 E34224 1 DOOR FRAME HEAD {STANDARD) 6063-16 |-
1A E4TB111 ! DOOR FRAME HEAD (NARROW) 68063-T6 |-
1B E34125 1 DOOR FRAME HEAD (CONCEALED CLOSERS) B063—T6 §-
1c P4441 1 FRAME HEAD (CONCEALED CLOSERS) CORNER KEY 6063—T6 |~
10 E6504 1 HEAD (CCNCEALED CLOSERS) DOOR STOP B6063-T6 |-
1E E2238 1 HEAD (CONCEALED CLOSERS) DOOR STOP COVER 6063-T6 |-
2 E34144 2 DOOR FRAME JAMB (STANDARD) 6063~T6 |-
2A E4TB11 2 DOOR FRAME JAMB (NARROW) 60B3~16 |-
3 E34242 2 JAMB SHEAR CLIP (STANDARD) 6063-76 -
4 E3550 1 THRESHQLD 6063-T6 -
5 E3029 1/ LEAF |LEAF TOP RAIL {MEDIUM} 6063-T6 |-
SA E1051 1/ LEAF [LEAF TOP RAIL (WIDE) 6063-T6 |-
£2954 1/ LEAF |BOTTOM RalL. 6063-T6 {—
E1397 1/ LEAF |LEAF HINGE/LGCK STILE (MEDIUM) B063-T6 |-
7A E2937 1/ LEAF [LEAF HINGE/LOCK STILE {WIDE) 6063~T6 |—
8 £3245 1/ LEAF |LEAF ALT. HINGE/LOCK STILE (MEDIUM) 6063-T6 | —
BA £3246 1/ LEAF |LEAF ALT, HINGE/LOCK STILE (WIDE} 6063-T6 |-
9 £3027 1/ LEAF [LEAF ACTIVE STILE (MEDIUM) 6063-T6 |-
94 £2938 1/ LEAF |LEAF ACTIVE STILE (WIDE) 6063-T6 |-
10 E1154 1/ LEAF [LEAF INACTIVE STILE (MEDIUM) 6063-T6 |-
104 E1155 1/ LEAF |LEAF INACTIVE STILE (WIDE) 6063-T6 |-
11 E2944 AS REQD. |MID RAIL 8063—T6 | OPTIONAL
T1A £2945 AS REQD. |MID RAH 8063—T6 | OPTIONAL
1B E2946 AS REQD. |MID RaiL 6063-T6 | OPTIONAL
12 EB510 AS REQD. |DOOR STOP BASE (STANDARD) 8063-T6 |—
124 EB500 AS REQD. |DOOR STOP BASE (NARROW) 8063-T6 |-
13 EE505 AS REQD. |DOOR STOP {STANDARD) 8063-T6 |-
13A £6501 AS. REQD. | DOOR STOP (NARROW) 6063-T6 |-
14 E1152 AS REQD. {ASTRAGAL W'STRIP ADAPTER B063-T6 |-
15 E6533 4/ LEAF [EXTERIOR GLASS STOP (LAM. GLASS) 608376 |-
16 EE523 4/ LEAF |EXTERIOR GLASS STOP (INSUL. LAM. GLASS) 606376 |-
17 E6532 4/ LEAF |INTERIOR GLASS STOP (DRY GASKET) 6063-76 [~
18 E6512 4/ LEAF |INTERIOR GLASS STOP (GLAZING TAPE) 6063-T6 |-
19 E6522 4/ LEAF |INTERIOR GLASS STOP (SILICONE) 6063-T6 |-
20 P2908 4/ LEAF |EXTERIOR GLAZING GASKET (LEVEL D IMPACT) EPDM -
20A P2901 4/ LEAF |EXTERIOR GLAZING GASKET (LEVEL E IMPACT} EPDM -
21 POD17 4/ LEAF |[INTERIOR GLAZING GASKET EPDM -
22 3M VHB 4/ LEAF [INTERIOR GLAZING TAPE (.080" X 750"} FOAM -
23 PEss2 4/ LEAF |[INTERIOR SPACER TAPE FOAM -
25 P1912 2/ UTE |SETTING BLOCK AT 6" FROM ENDS EPDM DURCMETER 805 SHORE A
26 P6296 AS REQD. |FRAME HEAD/JAMB BULB W'STRIPPING VINYL -
27 P3450 AS REQD. |FRAME SILL BULB W'STRIPPING VINYL -
28 PO38 AS REQD. |ASTRAGAL PILE W'STRIPPING WOOL ULTRAFAB
29 #10 X 5/8" AS REQD. |ASTRAGAL ADAPTER FASTENERS, AT 12" O.C. ST. STEEL |FH SELF DRILLING SCREWS
30 #10 X 1/27 AS REQD. |GLASS STOP FASTENERS, AT 2" FROM ENDS & 12" 0.C. ST. STEEL |FH SELF DRILUNG SCREWS
31 #12 X 1-1/2" AS REQD. |FRAME ASSEMBLY FASTENERS ST. STEEL |HH SELF DRILLING SCREWS

WA

W 7
N /7

O \/N\f‘, Fﬁl@) &

: MNo. 81223

Y N B
WP ceNss Gy >

£y
r
T
[P
3
7
o [e23
Z =Ri-
(] v U
ab -8z
2E =R
4z <glE
FEREE
[13] —
O
Eed %
For
QEan
Q244
pud
Gozh
g™ 3
Qn.ﬂqu
O2Lg 3
Ee2S s
ﬂ! oW i
[T % N o
1 =S8 0
w BQL
zm3 g
L R
p—
-
=
= &)
o 0]
&) =
(@] 3
o (V)]
@ .
Z 3
%] prad "
[ =]
3l & °
a
=1 )
2o o3
SiZoewn
-l = 3 N
< [ N
W 24
SlETS=g
Sl o4
E%@WS
%D"g%.
LiFmE 2
|
=
o
o
il
=
_
[8)
]
@
o
>
Fa)
s
ci|o
o5
nio
=
oifo
\SAC J
ol
0
i o |l o
™~ ® T
HEE
slallsll®
b K NI
sliallsls
N
drowing no.

|lsheet 12 0f 15




%mﬁﬁl’jﬂﬁa e
-250“?—' 110 o -075~ﬂ

; 4,969

FRAME SILL

O

242 —=

@ DOOR STOP

1.974

BASE (STANDARD)

@)

o
J o 476

DOOR STOP (STANDARD)

.224»J L |

DOOR STOP BASE (NARROW)

DOOR STOP (NARROW)

—= r’*.641

B
.774['9‘

EXTERIOR GLASS STOP
(LAM. GLASS)

i

.185A=| P
125 = 1.250
379 _.&_
?___
1,632 —

()

INTERIOR GLASS STOP
(DRY GASKET)

379

(g

.195%! e
1.250

—.125
T—_

F=—1,632 —=-

INTERIOR GLASS STOP
(GLAZING TAPE)

.160—=—l f=—

1.250
.378

e

P 1,632 =

INTERIOR GLASS STOP
(SILICONE)

=

1,250 125

b i
—J.?M#

EXTERIOR GLASS STOP
(INSUL. LAM. GLASS)

©)

Sealed: 12/16/20

[L— 989 5.000 4.700
4.5C0 1.000 p=— 1.750 —=j
T — | ] ]
_lL..080 L 125 .384
2500 LG (. ﬂ } 125 790 1.000 1.356
2.500 2.062 ? é
_JQHJT“% b _J Lﬁ -J B
o—1.625-=1 1.250 } ) 125 =t 093
-‘=—1.992—‘>li.000L 125 TYP.J
@ FRAME . HEAD (STANDARD) FRAME HEAD (NARROW) _ FRAME HEAD (CON. CLOSERS) @ HEAD (CONC. CL.) CORNER KEY @ DOCR STOP @ DOOR STOP COVER
1&‘2.500-“—-5 750
ﬁ" lﬁv - 1.625
oS
=—.125 125
—=A=—080
§ ? i
5.000 1.000 4.500 1.250 24170 660 (::
090 — T
2.000 1.6725 1.755
L | | L
.17:5—f
@ FRAME JAMB (STANDARD) @ FRAME JAMB (NARROW) @ JAMB SHEAR CLIP
2.581 435 —= 497 S 707 ; 500G
1 ] i
060-=J=-~ 1750 .oszi% 1.305 0621 1.000

—
-
T
L.
l")
I
"w?l
2 ggh/
(] w @
=8 ~41Z
= u = 0
g = TNl
gn. S @iz
938“38
ul Yt
Lo %
w
pap 2
EEL
QR
o«oa{g
EE? 2
@aogd
0Lz ¢
m.
'
mm%ﬁ“
gUSE @
&%w_‘o
i E0E 0
ol S0 &
£ M=
€5z B
p—
=
=
= &}
o @
(@] =
S 3
o 0}
‘29 -
= =
] =z »
= o
3l & ¢
o
=1 )
Zl0ooY
SIZoew
| - [0 BN
=L st
o 24
ZIET=EQ
Sio® -4
S holg
21593
Q™= &
—e
oy
C
o
B
&
[
[
o
33
=
>
o]
”
el | 1)
ofs
Do
Y
Do
N =S
ol
S v
afh. g
| w0 CE
Slisllli.
sl Bl
28 lcils
» L bl Qa

drawing no.

19-33F

sheet 130f 15




|- 2.000 ~—=

4.500

f=-.250

187 ] 2.937

O

TOP RAIL (MEDIUM)

te— 2.000
250
6.000
4.437
187~
|
s

TOP RAIL (WIDE)

T
487 =i fo
8.438
10.000
—= =219
-=-—1.9'38—=-|

©

BOTTOM RAIL

F.ZGQ

1,460
.085

ASTRAGAL W'STRIP ADAPTER

10.000

9

4,377 } 5,877 e 7000 —]
} 6«.187 t 6“-187 -
f 7 I
2.000 2.000 87— =
4.500 4.188
I 4.502 ' } 6.002
7T
@ HINGE /LOCK STILE (MEDIUM) HINGE /LOCK STILE (WIDE) L a
4,403 5.803
L F.iB? L ‘5—‘1,37 @ MiD RAIL
] ) T ¢ ) i r—z.ooe—_c-
2.000 2.000 Y —
i | )
] i
4.094 5594
187 o] e
ALT. HINGE/LOCK STILE (MEDIUM) ALT. HINGE/LOGK STILE (WIDE)
6.000 5,688
4,500 6.000
187 .187
b ' 3 1
3
} {
2.000 2.000 | E—
(Y 2]
i M)
4344 ‘ 5 844 MID RAIL
@ ACTIVE STILE (MEDIUM) ACTIVE ‘STILE {WIDE)
4. 464 i 5.945
{187 J pe
? } B
2.000 2.000
7 7
4,055 5.555

INACTWVE STILE {MEDIUM)

&)

INACTWE STILE (WIDE)

Sealed: 12/16/20

(=)
ber—— 2 000 —= 'T
[T
)
[ A NI')
| 4
L z 32|
o 5ol
E 29
=z © =4
= 8T
€= S8ld
le—.187 g Sgl=s
mOQEoO
ogf ¢°
& T
goE =«
0Lap
0:).
pud
OEE" S
9314{1Q@aog 4
O%hz 3
En:zg‘.“
USE @
u.gw..-o
TS0 0
4885
LLhns M
— | —
=
= &)
& 2
1 1 sl 3
= e w
2 N
2 =
[72) = »
MID RAIL 5 L8
(o]
2.
£loo3
HSiZ e
4 — D o
< PR
il 24
SiET=Eg
S = .
W~ w9
Slmol g
ZID8% ¢
SlFm=z &
L—
oy ~
C
o
12
o
|
O
w
[15]
o
>
KO
y
[<b]
Sl
[2111e]
S
[11]1Re]
\=G

04-24-19

scale: 3/8" = 17
dr. by: TARIQ

chik. by:

date:

ST ————— Yy
drawing no.

19-33F

sheet 14 0of 15




{NL=4C£—61 \INV—dWO0D )i XD 4 1Z77-309—008 ‘lBL L)
169292 (G0E) 'X¥d 0089z (S0E) 3L bECEY TN J9%IDM 5

(gece "N'v'3) ELTEE VAIHOTd TNVIN 9 8uNS “M'N 4Q =bpiy sMPM 9GO¢ o 0

0ZZ 3LINS ‘3AIMA 13SNNS 09E6 . £ =

ANIWJOT3AIA LONAOH ® SHIINIONI ONI_31n38nl e T LG ST 5 O |%

L £ | nolLvHOodu0D DoouY-TY ((tW7) ¥00 SNIMSLNO ANNIKNTY VINIWANOM J¢ Sooemen| &0 )P |5

@) #1s "

MACHINE SCREWS

o
N
~
©
-
=
N
-
5
o

®

o)
w

FRAME (NARROW) TOP CORNER
FRAME (CON. CL.) TOP_ CORNER

©
~
>
~
~

3-1/2" X 2

//_ ALUM ANGLE’

]
[
L b
AT
H [
;% i
FRAME (STD.) BOTTOM CORNER

] &
=z
o]
m _\
S Gl —
— i ¥
= =5 fsoll )
) Nz 4%
L]
o 5
= 2
o
[l Ll
% =
07
(x| O
® & ® 3
m..// ﬁ)/ =
AR [al} AN O
MITTTY O MASTTY
..y = Y | .‘.\v 3 v 7 “”
\\\ﬂ\m\ //\ \ N \m\ W.,/ﬁ \ O
— Y % — \ % m
— = — AN %
L]
FIET s Ll —
<+ =
~ ;M_w
-5 O - b g
o2 o o
XM = XM T =z
= ax £, D
™~ [
ST B% 3= BE
| o i o
— W - [04
., = < = \ // </
S 5 -3 /M
T T "






